

  Guitar    

A Fmin

   

B min E 7

   

A Fmin

   

B min E 7


 

5

   

A Fmin

   

B min E 7
1.

   

A Fmin

   

B min E 7




9 2.

   

A D

   

A A 7

   

B min7 E 9

   

A Fmin




13

   

B min7 E 9

   

A

   

D min7 G

   

C A min7




17

   

Cmin7 F7

   

B 9 E 7

   

A Fmin

   

B min E 7




21

   

A Fmin

   

B min E 7

   

A Fmin

   

B min E 7


 

25

   

A Fmin

   

B min E 7

Blue Moon
quarter = 66

ending 2X round


